
Non ideal mixtures , ctd
-

Raoult's law limit , for
solvent

Isolvent corre
-> Xsomeo

Then expect Proment i solent plert
Henry's la

H 2/
pressure on its

KsolsetPsolute = Ksolute X solute , usually *
Psolute



many/most things are better

solvents for themselves then

other molecules

Eg EHOH in Hac
or H2C in EtoH

-

......XpoH-PsfOH I PPro YH2oP
-stoll



-ChemicalReachos C +D

Rxn is a mathematical constraint

on # moles of all species
conservation of mass)

G = NAMA + HB MB +McMc + UDMD

what if# change
dG = M : dai



A B dra = -dur
aA + bBcC +dD

-->
Vi & progress

dNA = -VAdE dNB = -VidE dNc=OcdE dNx=VadE

=-WBE = UcE =Va
ImolA Incl B

A + 2B= -
t
anUn

(mol A ImolB OndC -

- X - 2x +Y A ,B,LW



dG = EMiWidE
i U's are regative

for reactants&

Mi = Mi + RT In [i]<
&G
= I MiVi = 0 & equilibriOE i

L
--Gran bl G is the Thermodynamic

potential for reaction
->Moxn &6/04= 0 e eq



G(P ,T, Ni
, n2 , .....

for fixed 4
,
T
,
n
....., K

G is minimized

E something you can change te
minimize G & fixed P&T



-Erin = UiM:
Mi =Mi +RT

I EN : (M:° + RT (n[i])
i= 1

= (ViMi) + RT EW: Ina
i= !

+ RTI Liji
i=1

= viM!
O + RTIn [t[iTVi]

iz/

-Erin = PEO + RTInQ



Q is reaction protect
that you

are used to

K

Q = M zijti
: Il

2 =
[D]

for

[A]" [B]b example
* bottom
b/ Vi are

regatich



DEm DE + RTInQ
~xn

& equilibring &Fr = O

- Frx = -RTI Keg

Keq= Reg =T Size
i

eq

a + A +2B -> C ↓ Hran = lol



What is the depeduce on T?

DE = FO - TOSO

- RTIn Keg = IHO
-TASO

In Keq = -F 250- t
RT R

Won't Hoff Equation

Plot Ikeg vs #C intercept
05%

slope
- H

°

/R



-G

In keg = -
AFO

+ OS
-T R

Ink(Tz) = DF
+ -FO- -
-

K(T,) RTZ RT
, & foso

doesn't
=
-P(π -+ depend

on T



Dependence on Pressure
-

de = -5 dT + udP

e corst T

dG = UdP
-

for ran d Erin = deproducts - dfreacht
= DVdP

P4 pushes the
reaction to lower

volume side


